QUESTION PAPER FOR :Jr.clerk Gr. D to C 16 2/3% LDCE Quota Part A DATED : 2019-03-18

Main Questions

Total Questions 50

SR QUESTION ENGLISH / HINDI OPT 1 OPT 2 OPT 3 OPT 4 ans
Read each sentence to find out whether there is We
any grammatical error in it. The error, if any will | . .
! discussed |on the eve of |hat | found it
be in one part of the sentence. The letter of that
. . aboutthe [the very easy to |[No error. 1
part is the answer. If there is no error, the roblem so |examination |work it out
answer is 'D'". (Ignore the errors of punctuation, P '
. thoroughly
if any).
Read each sentence to find out whether there is
any grammatical error in it. The error, if any will ot drowned
be in one part of the sentence. The letter of that [An Indian  [laden with 31 the Pacific | No error 3
part is the answer. If there is no error, the ship merchandise Ocean '
answer is 'D'". (Ignore the errors of punctuation, '
if any).
Read each sentence to find out whether there is
any grammatical error in it. The error, if any will | could not because the
be in one part of the sentence. The letter of that utup in a boarding were No error 1
part is the answer. If there is no error, the Eotelp and lodging |exorbitant. '
answer is 'D'". (Ignore the errors of punctuation, charges
if any).
Read each sentence to find out whether there is which was  is free now
any grammatical error in it. The error, if any will reviousl from the
be in one part of the sentence. The letter of that | The Indian Eontrollegb narrow No error 3
part is the answer. If there is no error, the radio the British y vested '
answer is 'D'". (Ignore the errors of punctuation, .
if any). rulers interests.
Read each sentence to find out whether there is due to the
any grammatical error in it. The error, if any will . .
: A lot of inefficiency
be in one part of the sentence. The letter of that travel delav |and lack of |O" behalf of No error 3
part is the answer. If there is no error, the is caused y 0od the railways. '
answer is 'D'". (Ignore the errors of punctuation, 9
if any). management
Read each sentence to find out whether there is
any grammatical error in it. The error, if any will the Minister
be in one part of the sentence. The letter of that [One of the |expressed was an No error 5
part is the answer. If there is no error, the members  |doubt if atheist '
answer is 'D'". (Ignore the errors of punctuation, ’
if any).
Read each sentence to find out whether there is
any grammatical error in it. The error, if any will all the
be in one part of the sentence. The letter of that You can qet information in this book. |No error ’
part is the answer. If there is no error, the 9l that you ' '
answer is 'D'". (Ignore the errors of punctuation, want
if any).
Read each sentence to find out whether there is
any grammatical error in it. The error, if any will The the arrival of
be in one part of the sentence. The letter of that . :
art is the answer. If there is no error. the students awaiting for [the chief No error. 2
P A ) ’ . were guest.
answer is 'D'". (Ignore the errors of punctuation,
if any).




SR QUESTION ENGLISH / HINDI OPT 1 OPT 2 OPT 3 OPT 4 ans
Read each sentence to find out whether there is
any grammatical error in it. The error, if any will |1t is the duty
be in one part of the sentence. The letter of that |of every to defend the | freedom of
9 . . s No error. 2
part is the answer. If there is no error, the citizen to do |hardly-won |the country.
answer is 'D". (Ignore the errors of punctuation, |his utmost
if any).
Read each sentence to find out whether there is .
. L . . [Ifaman with the best .
any grammatical error in it. The error, if any will | .- he will
! diligently that has
be in one part of the sentence. The letter of that become
10 . . seeks to been thought| ~. No error. 1
part is the answer. If there is no error, the . s simple and
A . comeinto [andsaidin
answer is 'D'". (Ignore the errors of punctuation, . unselfish.
it any). the contact (this world
Read each sentence to find out whether there is
any grammatical error in it. The error, if any will
be in one part of the sentence. The letter of that remember  |to post this
11 . . You must No error. 2
part is the answer. If there is no error, the me letter.
answer is 'D'". (Ignore the errors of punctuation,
if any).
Read each sentence to find out whether there is
any grammatical error in it. The error, if any will is not
be in one part of the sentence. The letter of that |Mr.Praful . . |for the last
12 . . attending his No error. 2
part is the answer. If there is no error, the Patel one month.
TS . office
answer is 'D'". (Ignore the errors of punctuation,
if any).
Read each sentence to find out whether there is that the
any grammatical error in it. The error, if any will |Most of the |group were not
be in one part of the sentence. The letter of that |members at |appointed competent to
13 . . . . No error. 3
part is the answer. If there is no error, the the meeting |for do the job
answer is 'D'". (Ignore the errors of punctuation, |felt investigating |efficiently.
if any). the case
Read each sentence to find out whether there is .
. . ) . . in the papers
any grammatical error in it. The error, if any will |Many times .
! that the end |if a nuclear
be in one part of the sentence. The letter of that |the news
14 . . of the world [war breaks |No error. 4
part is the answer. If there is no error, the has been .
e . . will be out.
answer is 'D'". (Ignore the errors of punctuation, |published .
if any). certain
Read each sentence to find out whether there is
any grammatical error in it. The error, if any will
be in one part of the sentence. The letter of that know who |tosee
15 . . May | No error. 2
part is the answer. If there is no error, the you want please
answer is 'D'". (Ignore the errors of punctuation,
if any).
Read each sentence to find out whether there is
any grammatical error in it. The error, if any will In spite of
be in one part of the sentence. The letter of that P he did not so |any reply to
16 . . several No error. 2
part is the answer. If there is no error, the . far send me, letters.
L . reminders,
answer is 'D'". (Ignore the errors of punctuation,
if any).
Read each sentence to find out whether there is
. L . .+ | Regretfully,
any grammatical error in it. The error, if any will
: profits fell by 20 per .
be in one part of the sentence. The letter of that despite
17 . . earned by |[cent last . No error. 1
part is the answer. If there is no error, the higher sales.
e . your year
answer is 'D'". (Ignore the errors of punctuation,
company

if any).
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Read each sentence to find out whether there is the Iron and
. . ) .~ [Inareport .
any grammatical error in it. The error, if any will |, Steel Indian
. issued by . . .
be in one part of the sentence. The letter of that . Industryis  [industry in
18 . . Indian . . : No error. 3
part is the answer. If there is no error, the Statistical investing fighting
answer is 'D'". (Ignore the errors of punctuation, Insti more than pollution.
‘ nstitute,
if any). any other
19| Which of the following is the synonym for jovial? |incredulous |[merry revolting dizzy 2
20 Wh'.Ch of the following is the synonym for neutral unkind precious mean 1
indifferent?
21 Which of the following is the synonym for distress impunity perverse peaceful 4
nonchalant?
22| Which of the following is the synonym for wary? [calm curved confused cautious 4
23 Wh|ch of the following is the synonym for difficult mysterious |inflexible love 2
affection?
o4 Wh|ch of the following is the antonym for reduce need advance want 3
withdraw?
o5 Wh|.ch of the following is the antonym for clear dim brittle cleaver >
luminous?
26 |Which of the following is the antonym for slow? [leisurely crude boisterous  [falter 1
27 Which of the following is the antonym for determined [honorable reasonable |pliant 2
decent?
o8 Wh!ch of the following is the antonym for shorten extend Siress casy >
abridge?
Early to bed and early to
29|rise a man healthy, make makes will make made 2
wealthy and wise.
You areill you don't go
30 out then as because shall 3
31 When the Principal entered the class, a wrote was writin writes is writin 2
student.......... on the blackboard. 9 9
32| Select Correct Word Aceleration |Aceeleration [Accelaration [ Acceleration
33| Select Correct Word Aggressive [Agrressive |[Aggressive |Aggresive
“Will you “Will you “Will you “Will you
34 Choose the sentence with the correct cometomy [cometomy |cometomy [cometomy 3
punctuation house,” he |[house!” he |house?” he |house?” He
asked. asked. asked. asked.
35| I don’t know the reason his going home. |to upon on of
36| The synonym of the “Obstinate” is observe stubborn flexible remote
The apple |The apple is The apple The apple
37|Choose the correct sentence: tastes tasting PP tasting 1
taste sweet
sweet sweet sweet
38 Fridge” is the colloquial from of the Freezer Refrigerator |Fridgdoor Freezing 5
word Vessel.
39| The synonym of the word “Forbid” is allow prohibit welcome allude 2
40| The word “unbecoming” means do not untoward create FO be. 2
become intelligent
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ThecBl  |7ere
Read each sentence to find out whether there is has filed a seeking its |A Sri Lankan|Allegedly
41 |any grammatical or idiomatic error in it. If any atition in permission |national held | spying for 1
error is present choose that particular option p to for Pakistan
NIA court .
interrogate
To the five
key laws
Read each sentence to find out whether there is Tg\?ernment ﬁggiﬁtin :-er:/?;:vvoal::g over
42|any grammatical or idiomatic error in it. If any g rised another 9 draft environment, | 2
error is present choose that particular option PP . forest,
the court committee |amendments| . - .
wildlife, air
and water
. To carry out
Read each sentence to find out whether there is -sr:ereme S:\l/zeegg business in Hc?vié??o
43 |any grammatical or idiomatic error in it. If any COFL)JFT has  |fundamental potable prohibit such 3
error is present choose that particular option . liquor and P
ruled that right trade
the state
Government
plan to link For To all
Read each sentence to find out whether there is |the rovidin citizens with To check
44 any grammatical or idiomatic error in it. If any universal Fne dicalg Aadhar ghost 1
error is present choose that particular option health beneficiaries
treatment number
assurance
scheme
Although the leader's life was both........... and maanificent. |na thrillin arduous
45| painful, it was not without ........... for he had 9 ’ f PRy, bi 9, isf ! 4
accomplished many of his goals success rustration ambition satisfaction
46 'Fl)'rhaeisaertlst s work of art is worthy For of To About 5
47 he Bhagavad Gita is a part of the Mahabharata, [ Dependent, | Together, Separate, Apart, 4
but it stands andis___initself incomplete |justified dignified complete
48 grri]\?aﬁgadrgr{aitions most of its money through Receives Borrows Uses Proposes 1
49 Many leading members of the opposition party Having tried | Has tried Have been Tries 3
to justify the party’s decision 9 trying
50| [he sate-oi-the-art school is with a Establish  |lllustrative  |Having Equipped 4

medical clinic and fitness center
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SR QUESTION ENGLISH / HINDI OPT1 OPT 2 OPT 3 OPT 4 ans
1 Who is head of Personnel department? CRB MTR MS ML 3
R fSurcHc H s P ER 8 ? BISIRCl THCIAR TG TG
5 What is the C in of RRC? Committee  [Cell Chairman Center >
IRIRYG F F R B ? FHHS I RREA I
3 Who is the senior most of all? PCEE CELE SR. DEE DEE NA
T W AR P AT ? NIIEE] BIESSH] GfFeR Sss |96
In which year Railway Servants (Hours of Work
4 & Period of Rest) Rules came into force? 2007 2006 2005 2010 3
TH3NERTR (Hours of Work & Period of Rest) e |2007 2006 2005 2010
fops A1 & AL ?
Removal Dismissal Downgrading
5 which of the following is not a major penalty? Censure From from Service |post ]
T J B AoR Ut TE 2 JI=R Service T ORT Pl A
e I Rt |fafirar @
What is the meaning of D in the term DE in None of the
6 terms of Dispilinary Proceedings? Departmental | Discplinary | Delinquent above 3
et IR & e A S A R Aqe | Rurcied ScfiHde AP
BE ?
Only if the
daughter is
wholly
Does step daughter come under the definition of depenent
: : o . upon the None of the
7 family as per Railway Rules” Always Yes Deﬁnltely No Railway above 3
i@rﬁm%sﬁﬂﬂﬁé é’c?tliaiaﬂﬂaw'sﬁ?ﬂ% gﬁ?ﬂ G| Servant sﬂﬁ%aﬁgﬂﬁ
' R 19 ot
e HHART TR
T3 R & R
Gl
8 \;{ng\}/;i;z g;;gze?l and axle plant of Indian Chitj[ranjan Kapurthala Pgrambur Bangalore 4
EieT 3R TeRIel PR 379 9 el Red g ? T PRI TR iR
9 Where are electric locos manufactured? Bangalore Perambur Chittranjan  [Kapurthala 3
Toifdge At T A pEf T § ? FeR RIR ' HYRAA
Both railway
Railway Railway Boardand 16 of
10 General Manger is responsible for Board Ministr Railway these 4
AT XA HATT
The headquarters of South-Central Railways is | Mumbai . Mumbai
11|situated at ) (CST) g;%nnal %e%;arg]gbad (Central) 3
ASY Foel Xl Bl g R A pel Remd 2 |dad Howeh Hs Hgel
Whlch of the following is a part of Indian Kolkata Delhi Metro | Pune Metro Nagpur
12| Railways? Metro Rt ¥ e Metro 1
T A P WRSE X T R 2 eI AeT TR A




SR QUESTION ENGLISH / HINDI OPT 1 OPT 2 OPT 3 OPT 4 ans
They get
cancelled
automatically
and money
is refunded
into the it gets
What happens to waitlisted tatkal e-tickets Nothin original bank |confimed in None of the
13 which are not confirmed after chart preparation? ha er?s account the next train above 5
Yeforaee depret § f2fhe o1 o1 21T & R fefbe pgﬁmg whichwas SRl 5% |80 oo o
HHH AR A ? v used to pay |@HH & ST
for the g
booking
fefdre s
MY Hiet &
NISIECRILK]
Humsafar Express is a fully
service with all the modern facilities designed Sleeper class |AC 3 tier AC 2-tier General
14|and operated by Indian Railways 5 2
AN Yo Ot oRE & TISU & LU R IS ! i
g ?
15 Which of the following is not a Rolling stock? Loco Coach OHE EMU 3
SHIAPH AR EiH A& & ? GIER Pra Mgars g,
Which of the following is Minister of State for Vinod Kumar |Devendra
16| Railways at present? Piyush Goyal | Manoj Sinha Yadav Fadanavis 2
faffReR 3ifts TeT B XA TR A B E ?
When was the last separate Rail Budget
7| A R O A
g2Idh e FoiC JAMRERT IR el Il gam ?
Gareeb Rath trains were introduced the tenure . Mamta Lalu Prasad |Suresh
Nitish Kumar
18| of which Railway minsiter? N Banerjee Yadav Prabhu 3
RIS ¥ ¢ o5 o #3032 PR | sy ot AT I¥TE ATed R Ty,
What do you need in order to use the digital
19 signature? digital pen USB drive [Floppy disc |Web camera >
feRea Rrar & forg anue! fohs Suamv &6t o [fefiear o9 |Juwet gsa [ v |39 &FT
agT ?
Which of the following applications has the . Adobe
20 [feature of Mail merge? %W%d 22%5;%; Egg Eeﬁ;;omt Reader 1
AT Aot T HioR T 3 fhd FieaR A8 g ? e I
Which mobile application can be used to scan
1 pages? Whatsapp Eye scanner [Neo Scanner |Cam scanner 4
PTTS pl Th B & foll 379 J BIF 1 HidISd Feaq g THR 37 THR PH THR
UfTeh e SXHTel e ST Fepel1 & 2
;'é’i‘t’;g;”tg%com’e” scanned page into Using OPR  |Using OCR |Using QPR |Using QAP
22 : AR ®ET  [3TRTIR &l ARBT |G BT 2
%@quaﬁq@é@aé@ﬁa&aﬁ%@ SR IR b | SR PR B %W& S IR B
for ATTaR T SRS =T TRy ?
Which softeware performs the core function of ggfr;;svlgzatlon sPcE:EN are translation \ggtr:issor
typing in Hindi? software
23| o P A SRR T T P R A TR e ngzéaza Wg TP ST :%fg'vr‘g; !
B 2 o I | o
' A TR P | THHTA TR B SHA TR &b
What is the maximum duration of maternity 12 weeks 8 weeks 26 weeks 8 weeks
24 |leave in railways? 3
12 R 8 ERI 26 g1 28 &R

RIS efta @t Fatftres srafe) e & 2
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What was the scheme of Railways intended to
o5 train it's employees? Samarth Saksham Saubhagya [Gyan Ganga >
T ¥ fordt T & SIRY YR X & waTRal bl | e JeH | BISEuI
o @t 2
- zB:r?E'?I division Comes under which Railway WCR SECR WR CR 1
o PR R X o 1 R & 2 S SO S S R A L
57 What is the meaning of U in ZRUCC ? Union Users Unit Qggseof the 1
? .
ASARING A U o B & 7 gfeRm ot Ifere AP
8 Which is the capital of China? Taipe Beijing Maldives Colombo >
I P IS AT E ? GRS Cli Ul Hretatd P
2 Eﬁg&fﬁ;‘gﬁgg's located in which of the Mumbai  [kolkata ~ |Hyderabad |Deli )
o =R 38 < el Red @ 2 g FIIPI SRR feet
V\(h'IC.h are A1 category stations in Pune Pune Kolhapur Both 1 and 2 Neither 1 nor
30| Division? o PR 291 1 g 2 2 1
U SRS ATl St F I P PHAAE ? AP TR
In a chess tournament each of six players will
play every other player exactly once. How many 12 15 30 36
31 [matches will be played during the tournament ? 12 15 30 36 2
IR Pt T T A 6 Reefrgt & | Fft Reerrst
Teh TR & 1 Well | Pl fovar #9 Wet SIGH 2
A shepherd had 27 sheep. All but 10 died. How
30|Many he left with ? 10 15 17 27 1
U RFEUH g 27 A off | TR UH 10 BB IR |10 15 17 27
IR U R E | AN IRSY &b U Fred fhaent A a4 ?
A group of 1200 persons consisting of captains
and soldiers is travelling in a train. For every 15
soldiers there is one captain. The number of
L ! 70 75 80 85
33| captains in the group is ? 70 75 80 85 2
1200 =it &1 g M e iR RioTet &, wh e
JATFREE | WP 15 RfEal R g da= 2 |
gl ? Tl ot e fha § 2
34 What is the 14% of 2210 ,approximately? 290 310 210 325 5
2210 &1 14% B9 FHd fope1 &em 2 290 310 210 325
180, 360,
35 Divide 180 in the ratio of 1:2:9? 5,10,165 |15,30,135 |1,2,9 1620 5
180 W1 1:2:9 o 37U # favIfoTd & | 5,10,165 |15,30,135 |1,2,9 180, 360,
1620
Look at this series: 7,10, 8, 11,9, 12, ... What
36 number should come next? 7 10 12 13 3
@ it 2oft 7 arTeRt S @ g ey 7, 10, 8, 11, |7 10 12 13
9,12, ...
A can lay railway track between two given
stations in 16 days and B can do the same job
in 12 days. With help of C, they did the job in 4
37 days only. Then, C alone can do the job in 9.2 9.4 9.6 10 5
& Uah Nold oo ol bl 16 AT AT wapar g 1 @ (9.2 9.4 9.6 10

It B pY 12 21 § B Fepel1 2 | 1 h e e R
I 2 T Y B b 4 AT 8§ o e | a7 arbel
I9 P P fha- AT H xR epar & 2
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In a row of tress, a tree is 7th from the left end
and 14th from the right end. How many trees

38| are there in the row? 12 13 gg S} 3
Ul &t PR | T U ST iR & i & 3R 918 3iR
J 1491 2 | T HaOR § ol USH ot e fpaeit & 2
A man is standing in front of a painting of a
man, and he tells us the following: His father He himself  |His son None of

39|t TR & STF TS & IR U ST Bl & - ™R DIS S e a T 3T these 3
TS 981 ot T8l &, MfoheT 99 S 1 e +R e ar A SHIPIS TR
Je1 8 | TR et & ?
The average of nine numbers is 50. The
average of the first five numbers is 54 and that

40 (r:Ltr:EeI??; three numbers is 52. Then the sixth 34 o4 44 30 ,

34 24 44 30

=t el w1 ST 50 8 | 39 N Ugelt Ut <iRemat
T 3N 54 & IR R fiH It a1 ke 52
HEEEEICIR R




